		PLANT ENT	TERPRISES PROD	DUCTION		
	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
COTTON						
Lint - Irrigated		46,521.0	1,100.00	51,173,100	lbs.	\$28,145,205
Lint - Non-irrigated		15,507.0	950.00	14,731,650	lbs.	\$8,102,408
Seed - Irrigated		46,521.0	1,760.00	81,876,960	lbs.	\$4,093,848
Seed - Non-irrigated		15,507.0	1,520.00	23,570,640	lbs.	\$1,178,532
Cotton (Total)	256	62,028.0				\$41,519,993
FORESTRY		,				
Pulpwood						
Pine				55,027	cords	
Hardwood				20,749	cords	
Pulpwood (Total)				75,776		
Chip & Saw				29,849	cords	
Saw Timber						
Pine				46,402,016	board feet	
Hardwood				2,128,331	board feet	
Saw Timber (Total)				48,530,347		
Total Pulpwood, Chip & Saw,						\$30,732,725
Saw Timber FOB Mill						
Total Forestry Stumpage						\$20,752,750
Forestry (Total)						\$30,732,725
FRUITS						
Blueberries	*	1.0	180.00	180	lbs.	\$225
Figs	*	1.0	350.00	350	lbs.	\$420
Mayhaws						
Native	*	1.0	340.00	340	lbs.	\$340
Orchard	*	1.0	2,125.00	2,125	lbs.	\$3,188
Mayhaws (Total)		2.0		,		\$3,528
Muscadines						

Page 1 of 5

PLANT ENTERPRISES PRODUCTION						
Сгор	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
FRUITS						
Commercial	*	1.0	1.20	1	tons	\$320
Muscadines (Total)		1.0				\$320
Peaches	*	2.0	81.00	162	bu.	\$4,860
Fruits (Total)		7.0				\$9,353
FEED GRAINS						
Corn	167	43,272.0	125.00	5,409,000	bu.	\$12,278,430
Grain Sorghum	49	4,994.0	63.00	314,622	cwt.	\$1,135,785
Oats	6	177.0	55.00	9,735	bu.	\$16,744
Feed Grains (Total)		48,443.0				\$13,430,960
HAY FOR SALE		,				
Grass	35	1,892.0	3.00	5,676	tons	\$283,800
Hay for Sale (Total)		1,892.0				\$283,800
HOME GARDENS	5,500					\$1,650,000
PEANUTS	*	223.0	2,070.00	461,610	lbs.	\$105,247
PECANS						
Improved	*	90.0	290.00	26,100	lbs.	\$33,930
Pecans (Total)		90.0				\$33,930
RICE	49	43,734.0	67.00	2,930,178	cwt.	\$23,441,424
SOD PRODUCTION	*	420.0			acre	\$2,268,000
SOYBEANS	257	57,243.0	39.00	2,232,477	bu.	\$13,863,682
SWEET POTATOES						
Canning				135,680		\$271,360
Fresh				203,520		\$2,849,280
Sweet Potatoes (Total)	*	1,280.0	265.00	339,200	bu. (50 lbs.)	\$3,120,640
VEGETABLES						
Cantaloupe	*	2.0	150.00	300	cartons (40 lbs.)	\$4,500

PLANT ENTERPRISES PRODUCTION						
Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
VEGETABLES						
Collards						
Fresh	8	6.0	540.00	3,240	doz. bunches	\$22,680
Collards (Total)		6.0				\$22,680
Cucumber						
Fresh	*	1.0	310.00	310	bu. (50 lbs.)	\$3,100
Cucumber (Total)		1.0			× /	\$3,100
Lima Beans						-
Fresh	*	2.0	35.00	70	bu. (32 lbs.)	\$2,450
Lima Beans (Total)		2.0				\$2,450
Mustard (Fresh)	15	7.0	460.00	3,220	doz. bunches	\$22,540
Okra (Fresh)	*	6.0	246.00	1,476	bu.	\$36,900
Onions	*	1.0	90.00	90	bag (50 lbs.)	\$2,250
Peppers					U (
Bell	*	1.0	410.00	410	bu. (28 lb.)	\$6,150
Peppers (Total)		1.0				\$6,150
Pumpkin (Fresh)	*	10.0	82.00	820	cwt.	\$16,400
Southern Peas (Fresh)	30	57.0	71.00	4,047	bu. (24 lbs.)	\$101,175
Squash (Fresh)						
Yellow Squash	10	4.0	210.00	840	bu. (45 lbs.)	\$12,600
Squash (Fresh) (Total)		4.0				\$12,600
Sweet Corn (Fresh)	12	20.0	600.00	12,000	doz. ears	\$42,000
Tomatoes (Field)	*	2.0	1,100.00	,	lugs (20 lbs.)	\$39,600
Turnips (Fresh)	12	6.0	490.00		doz. bunches	\$20,580
Vegetables (Total)		125.0		<u> </u>		\$332,925
WHEAT	12	4,738.0	35.00	165,830	bu.	\$538,948
TOTAL ALL PLANT ENT		.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		-)		\$131,331,625

	Number of	Units of		Total	Units of	Gross Farm
Fisheries	Producers	Production		Production	Measure	Value
AQUACULTURE						
Catfish (Farm)	*	230	Acres in Prod.	690,000	lbs.	\$469,200
Aquaculture (Total)						\$469,200
FUR ANIMALS				40	pelts	\$294
ALLIGATORS (WILD)				277	ft.	\$5,828
HUNTING LEASES						
Waterfowl	46	20,500	No. Acres		acre	\$1,025,000
		,	Leased			
All Other Game	32	13,500	No. Acres		acre	\$74,250
		,	Leased			
Hunting Leases (Total)						\$1,099,250
e (& WILDLIFE ENTERPRISES					\$1,574,571

	ANIMAL ENTERPRISES PRODUCTION					
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value	
CATTLE & CALVES						
Steer Calves						
300-400 lbs.			211	head	\$93,450	
400-500 lbs.			436	head	\$220,097	
500-600 lbs.			875	head	\$489,191	
600-700 lbs.			147	head	\$93,639	
Steer Calves (Total)					\$896,377	
Heifer Calves						
300-400 lbs.			274	head	\$110,467	
400-500 lbs.			890	head	\$413,917	
500-600 lbs.			910	head	\$480,330	
					D 4 65	

Page 4 of 5

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					
600-700 lbs.			169	head	\$101,062
Heifer Calves (Total)					\$1,105,776
Yearling Cattle					
600-700 lbs.			590	head	\$375,830
700-800 lbs.			198	head	\$136,620
Yearling Cattle (Total)					\$512,450
Cow-Calf Pairs			338	pair	\$321,100
Cull Cows				head	\$168,360
Cull Bulls			42	head	\$38,575
Cattle & Calves (Total)	129	5,490 No. Cows			\$3,042,638
HORSES					
Brood Mares					
Show Horses	14	185 No. Brood Mares	70	head	\$245,000
Recreation Horses	380	520 No. Brood Mares	41	head	\$61,500
Brood Mares (Total)					\$306,500
Recreation Horses	380		520	head	\$780,000
Horses (Total)					\$1,086,500
TOTAL ALL ANIMAL EN	TERPRISES				\$4,129,138
MOREHOUSE PARISH	I TOTAL				\$137,035,334